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Name: __________________________________



1
When [image: image1.png]


 is factored completely, the result is

	1)
	[image: image2.png](@—2)a+2)




	3)
	[image: image3.png]2 (a-4)





	2)
	[image: image4.png]ala — Da+ 2)




	4)
	[image: image5.png]ala-2)°







2
When factored completely, [image: image6.png]— 1322+ 36



 is equivalent to

	1)
	[image: image7.png](x* - 6)(x* - )




	3)
	[image: image8.png](x—2D(x-Dix-3)(x-3)





	2)
	[image: image9.png](x* - 4)(x* - 9)




	4)
	[image: image10.png](x—D(x+ Dix-3)(x+3)







3
Factor completely:  [image: image11.png]




4
Factor:  [image: image12.png]4x° - 9x





5
Factor completely:  [image: image13.png]4x3 - 36x





6
Factor completely:  [image: image14.png]2x° — 98x





7
Factor completely:  [image: image15.png]3x° - 192x






1
ANS:
2

[image: image16.png]=ala-2)a+2)




REF:
011108ia

2
ANS:
4

[image: image17.png]13+ 3= (- - D) = (- Dix+ Dix- Dx+ )




REF:
011703a2

3
ANS:


[image: image18.png]x(3x+ D(3x-1)




REF:
060008siii

4
ANS:


[image: image19.png]x(2x+ N(2x-3)




REF:
019703al

5
ANS:


[image: image20.png]4x(x+ Dix-3)



.  [image: image21.png]



REF:
060932ia

6
ANS:


[image: image22.png]2x(x+ Tix="T)




REF:
019503siii

7
ANS:


[image: image23.png]3x(x+ 8)(x - 8)




REF:
080011siii


